< 00, > (M)

<op/p. > (70)

Ratio

o
[N

<0 @> (rad)
o
o [
[ [¢)]

100r

................................

................................

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

....................................

....................................

o
3]
TTTT T

F

1

—=— DQM_mkFit_XiMinusPU_retrain2
—— DQM_mkFit_XiMinusPUold

................................
................................

...............................

0.5

0
1071

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

<od,> (um)

o 10Q—
T C
x [

0.5+ +rn1aee

...................................

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


